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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER —1II

Note : This paper contains fifty (50) multiple- choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Universal programme of immunisation is for children below years.
(A) One (B) Two (C) Five (D) Twelve
2. All are true about case control studies except :

(A) Sequence of events not known
B) Presence of Bias

Many aetiological factors can be studied

D) several possible outcomes can be studied
3.  All are components at minimum needs programme except :
(A) Rural Health (B) Rural Electrification
(C) Rural Industries (D) Rural Water Supply
4.  Chicory is used as an adultrant for :
(A) Black Pepper (B)  Chilli Powder
(C) Coffee Powder (D) Haldi
5.  The mid-day meal should provide at least protein requirement per day.
(A) 1/3 B) 1/2 © 2/3 (D) 1/4
6.  All the following are inorganic dusts except :
(A) Silica (B) Cotton (C) Coal (D) Asbestos
7. A Component not included under the external environment is :
(A) Psychological (B) Social
(C) Physical (D) Biological
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10.

11.

12.

13.

14.

Commonest age group for Diphtheria infection in an unimmunised community is :
(A) Under five children (B) 5 to 7 years children

(C) 8 to 10 years children (D) more than 10 years age children

Any limitation or inability to perform an activity in the manner or within the range of
normalcy is termed :

(A) Invalidity (B) Impairment
(C) Disability (D) Handicap

The basic elements in communication are all of the following except :
(A) Communicator (B) Message

(C) Audience (D) Place of Communication

The mid year population is used as a Denominator while computing :
(A) Crude Birth Rate (B) Infant Mortality Rate
(C) Maternal Mortality Rate (D) Perinatal Mortality Rate

Modification of action is closely linked with :
(A) Authority (B) Responsibility in operation
(C) Accountability (D) Flexibility

Under Central Birth and Death Registration Act 1969 the death should be registered
within :

(A) 3 days (B) 7 days (C) 14 days (D) 30 days

The most important cause of neonatal mortality in India at present is :
(A) Haemorragic disease of newborn
(B) Prematurity and low birth weight
(C) Congenital Malformations

(

D) Neonatal Tetanus
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10.

11.

12.

13.

14.

JioReToRfed Tqe | fhd o1 &% s H Terelg Way 31fuh 2l 2
(A) 594§ FHH F 3 (B) 59 77 & 1Y
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15.

16.

17.

18.

19.

20.

21.

22.

23.

Bubonic Plague is transmitted by Bite of :
(A) Tick (B) Mite (C) Flea (D) Mosquito

Pulmonary Tuberculosis is confirmed by :
(A) Sputum Examination (B) Tuberculine Test

(C) X Ray Chest (D) ESR

A job description of Female multipurpose health worker does not include :
(A) Condom distribution (B) Birth and Death registration
(C) Malaria Suneillance work (D) Health Education

Commonest cause of Diarrhoea in under fives in India is due to :
(A) Rota viral infection (B) Nor walk viral infection

(C) Adenoviral infection (D) Corona virus infection

Highest amount of unsaturated fatty acid is available in :
(A) Butter (B) Vegetable Oils
(C) Milk (D) Egg

Which of the following organisms is not used as an indicator of faecal contamination of
water ?

(A) Coliform group of organisms (B) Salmondlu group of organisms

(C) Foecal streptococci (D) Clostridium welchii

Multiload device contains

(A) Zinc (B) Progesterone (C) Silver (D) Copper

The country which has the lowest Infant Mortality Rate is :
(A) Shrilanka (B) Sweden (C) Russia (D) China

Father of Indian Surgery is :
(A) Charaka (B) Sushruta (C) Atreya (D) Vaghbhata

J—8106 6



15. SR @ % e ¥ TR
(A) fe (B) WRe © fg (D)

16. S T & A T YEIek FAfefed teh 9 foran S € -
(A) FeTTH HI S (B) TR FEAH T
(C) Wl =l TRR (D) S.UH.SN

17. g S99 ufeel sl &l el &2
(A) TRy & faao (B) S IR T 1 USiiehul
(C) Hoifen weem (D) e foem

18. UTE I i SU % o= B ATTHR 1 Hag Aok ROl
(A) I ™ HHAT (B) R diich SBEE HHATI
(C) sifett = Hham (D) AT BEE HHHT

19. fowad srdegies e Ufae wed sifye dram €2
(A)  HFREA (B) oEfd ad (C) 349 (D)

20. fr=fafed § @ M St qa yare g7 gfid 9t 61 g9 6 ©
(A) HIATRM q 31 SATTE (B) WIHITSE YU 3 Ard
(C) highal LRk (D) =Afgfead deam

21. Adoe feREa i fad d & ® .
(A) fi® (B) WrRRZH (C) = (D)

22, <A R g R fra cm H ®?
(A)  icient (B) w&ted (C) & (W3r) (D)

23.  HRAT IeATEehIcdl Sl S :
(A) =R (B) A4 (C) A (D)

J—8106 7



24. Mid year population refers to population on :
(A) 1 March (B) 30* March

(©) 1 July (D) 31 December

25. The Seventythird amendment of the constitution refers to :
(A) Changing health services to central list.
(B) Introduction of Panchayati Raj
(C) Introduction of Community Health Centres

(D) Upgradation of Primary Health Centres to Rural Hospitals

Q. 26 to 33 are Matching item. This consists of two lists of statements terms or
symbols and the candidate has to match an item in one list with an item in the other

26. List - I List - II
Breeding Place Type of Mosquito
(a) Stagnant Water (i) Culex
(b) Clear Running Water (i) Mansonia
(c) Water in cans (iii) Anopheles
(d) Pistia Plant (iv) Aedes
Code :

@@ (b) (9 (d)
(A) @ @) (@v) (i)
B @O @) G (i)

(D) @) (v) (@) ()



24.

25.

26.

ety sHEEn fefatead g 9 S S 2
(A) 19 (B) 30 HT= Q) 19arE

Hfgurfier 73 o 4R &% STER dead ¥ :

(A) e wreed Fa ki g § Fferd
(B) Gl ST hi oA

(C) eI Teed g i Ye3lld

(D) WAfe TR e 1 UTHIOT SO | el

(D)

31 feamsr

TvT GEAT 26 W 33 T &1 Gl GAlTd FHAarei! 7el @ &1 398 saaaed) @i af grerdl ug
T Gk &1 7T 377 Wt Uk el 1 AC I gad GEit 1 He T GATTd & £

A -1 T - 11
EREERIE] T T YRR
(a) Fmrer wrft (i)
(b) T Il S (i) HEEIT
(c) =9 H @1 uHl (iii) STATHCTE
(d) T dren (iv) TS
e :

@@ () (o9 (d)
(A) @ @) @v) ()
B @O @) @) (i)

(D) @) @Gv) @) (i)
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27.

28.

29.

List - I
Disease
(a) Mumps
(b) Pulmo Tuberculosis

(¢) Typhoid
(d) Poliomylitis

Code :

(@ (b) (o) (d)
(A) @) @ (@v) (i)
B) @) @ 3§D ()
© @) @ G @)
(D) @) (D) (v) (i)

List - I

Disease
(a) Japanese Encephalitis
(b)  Brucellosis
(c) Rabies
(d K ED
Code :

(@ (b) (o) (d)
A) ) @ @ @)
B G @) @ @)
© @) @ @) 0
D) ) Gi) @) 0

List - I

Name of the Scientist
(a) John Snow
(b)  Cold berger
(c) Hansen
(d) Robert Koch

@@ () (o) (d)

(A) @) (v) @) (D)
B) @) (@) 3§ Gv)
(© G) @) @ )
(D) @) (v) (D) (i)

List - II
Portal of exit
Sputum
Urine

Saliva

Faeces

List - IT

Reservoir of Infection
(i) Rats
(i) Cattle
(iii) Pigs
(iv) Dogs

List - II

Field of Work
i)  Cholera
ii) Leprosy
iii) Tuberculosis

iv) Pellagra

10
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30. List - I

Disease
(a) Epidemic Typhus )
(b)  Scrub Typhus (i)
(€) Qfever (i)
(d) Trench fever (iv)
Code :

@ b © @
@) @) @) @)
® (@) @) @ 0
© O @) @) @)
O () @) ) ()

31. List -1

Food Item
(a) Hen's Egg (i)
(b)  Buffalo Milk (ii)
(c) Rice (i)
(d) Bengalgram Dal (iv)
Code :

@ b © @
A @) @) @) )
® () ) @) @)
© () O v (i)
D) @) @) @) O

J—8106 12

List - IT

Rickettsial Causative Agent
Rochalimaea quintana

R. Prowazekii

R. Tsutsugamushi

C. Burnetii

List - II

Protein Content/100 gms
4.3 gms

6.8 gms

13.3 gms

20.8 gms
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32.

33.

34.

List - I

Type of Dust
Coal Dust
Iron Dust
Cane Fibre
Cotton Dust

@ (b) (9 (d)
® G 3G @)
@@ (@ (i) (i)
(iv) (@) (1) ()
@) @) (@Av) (@)
List - I

Public Health Importance
World Health Day

World AIDS Day

Anti Leprosy Day

Anti Tobacco Day

@@ () () (d)
O @ @) (@G)
(i (@Gv) @ ()
() @Gv) () ()
(iv) (@) () ()

List - IT

Type of Pneumoconiosis
Bagassosis

Byssinosis

Siderosis

Anthracosis

List - II
Day

30" January
7™ April
31 May

1%t December

Identify correct ascending order of Vitamin C content of the food items given below:

(A)

Lemon, Guava, Orange, Amla
Lemon, Orange, Guava, Amla
Orange, Lemon, Guava, Amla

Guava, Lemon, Orange, Amla
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35. Identify correct descending order of incubation periods of the following diseases :

Influenza, Measles, Rubella, Chickenpox
Measles, Influenza, Rubella, Chickenpox
Chickenpox, Measles, Influenza, Rubella

Rubella, Chickenpox, Measles, Influenza

36. Identify correct descending order of the global burden of disease as measured by DALYS
in 1990

(A)

Perinatal Conditions, Diarrhoeal Diseases, Lower Respiratory Infections, Ischimic
Heart Disease

Diarrhoeal Diseases, Lower Respiratory Infections, Perinatal Conditions, Ischimic
Heart Disease

Lower Respiratory Infections, Diarrhoeal Diseases, Perinatal Conditions, Ischimic
Heart Disease

Ischimic Heart Disease, Lower Respiratory Infections, Diarrhoeal Diseases,
Perinatal Conditions

37. Identify correct chronological order of events of public health importance :

(A)

The Child Marriage Restraint Act, MTP Act, National Health Policy, Pulse Polio
Immunization

MTP Act, National Health Policy, Pulse Polio Immunization, The Child Marriage
Restraint Act

The Child Marriage Restraint Act, National Health Policy, Pulse Polio
Immunization, MTP Act

The Child Marriage Restraint Act, Pulse Polio Immunization, MTP Act, National
Health Policy

38. Identify correct ascending order of sex ratio in different states in India :

(A)
(B)
(©
(D)

Hariyana, Madhya Pradesh, West Bengal, Andhra Pradesh
Madhya Pradesh, Hariyana, Andhra Pradesh, West Bengal
Andhra Pradesh, West Bengal, Hariyana, Madhya Pradesh
West Bengal, Andhra Pradesh, Hariyana, Madhya Pradesh

39. Identify correct descending order of incidence of cancer amongst females in developing
countries for the following sites :

(A)

Ovary, Cervix, Breast, Mouth & Pharynx
Cervix, Breast, Mouth & Pharynx, Ovary
Breast, Ovary, Cervix, Mouth & Pharynx
Mouth & Pharynx, Cervix, Ovary, Breast
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35.

36.

37.

38.

39.

o fe& g3t i o1 SSa el STadel B § forg
(A)  THIUST, T, Toic], B

(B) WHY, THRITSII, Toic], BIHATI

(C) ST, TE, THRITSI, Toictl

(D) Tl BICHTA, THY, SRS

1990 % DALYS % 3TI8R foaeardt I 1 vR sTaiet %4 H g

A) s g, AfdER, e 9 3 YaeETen & I, SRS &ed I
B) SIftHR, F=e 9 % YagEen & I, Ufed guem, Shiteh &ed I
C) TT=T&R 91 % yaggTen & I, AfqER, Ufiee Toemd, SR gad I

(
(
(
(D) TEhIHe T I, T T & vomeen & 3, S1feaR, Ufed goemd

)
D)
FHHTHR ST 7o & STTHR Hed T8y :

(A) I faare = &, dEeE 1| SEE, T SR Hifd, gew defie |
(B) T MU A, T R ifd, Jow Wifetedl, arat faarg fe=m & |
(C) = foamg Fe=mn s, T R i, ed difaisdl, Sk T & |
(D) = foamg Fe=m s, 9o dieltstl, SereE T R, T8 ST Aifd |
& RS B H ol 1 e o 21— 3Te Tl & STIER &

(A) T, ge v, ufvem S, Ty U
(B) WA Y<w, SRAMN, 3Ty Yow, qfi=d S
(C) =Ty yew, ufvey e, gfamm, He yew
(D) uf¥=m S, STy Yo, SRamm, ¥ geu

TR STeE B9 H o 1 3o faen i <ui &l Afeenstt § (fafve s &) qe=m
HRA :
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40.

41.

42.

43.

44.

45.

Question No. 40 to 45 given below consist of two paired statements. Statement A
(Assertation) and statement R (Reason) is connected by the term because.

Select appropriate answer using the code given below the question as follows :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

J—8106

A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
B) Both (A) and (R) are true, but (R) is not the correct explanation
C) (A)is true, but (R) is false

D) (A) is false, but (R) is true

Whooping cough occurs more in winter and spring.

Overcrowding and low socio economic status help in transmission by
air borne route.

Bidi smoking appears to carry a higher lung cancer risk than cigarette
smoking.

There is higher concentration of carcinogenic hydrocarbons in the
smoke of Bidi.

More than 40% of children under five in India are malnourished.

The ICDS Programme failed to cover its target population.

Infant mortality is one of the most sensitive indicators of health status
of a population.

It is not affected by socioeconomic variables existing in a community.

Primordial prevention is a secondary type of prevention.

Primordial prevention can be used effectively in chronic diseases.

Demographic gap in India is wide.

India has not been successful in reducing the birth rate at the same
pace as the declining death rate.

18



40.

41.

42.

43.

44.

45.

YA HEAT 40 W 45 H < TH I T

I (A) (TTHYT) T g (R) (FRT) 2 fod gU HrSi 1 ITANT 1 T S A -

(A) (A) @1 (R) ST Tl € T (R), (A) T &l AT T |
(B) (A) M (R) THI TEl € M (R), (A) i T =& T T
(C) (A) &l T e (R) TTerd |

(D) (A) TTerd & 2ifeh (R) W&l &1

hdT (A) :

T (R) :

kU (A) :

T (R) :

hdT (A) :

T (R) :

HA (A)

[T (R) :

HAT (A) :

T (R) :

HAT (A) :

[T (R) :
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46.

47.

Read the passage below, and answer the 5 questions that follow based on your
understanding of the passage :

Some have equated ecology with epidemiology. The main distinction between
epidemiology and ecology is that while epidemiology is the study of the relationship
between variations in man’s environment and his state of health (or disease), ecology
embraces the interrelationship of all living things. In this regard, epidemiology constitutes
a special application of human ecology or that part of ecology relating to the state of
human health.

It is now being increasingly recognised that environmental factors and ecological
considerations must be built into the total planning process to prevent degradation of
ecosystems. Prevention of disease through ecological or environmental manipulations
or interventions is much safer, cheaper and a more effective rational approach than all
the other means of control. It is through environmental manipulations that diseases
such as cholera, typhoid malaria and hook worm disease could be brought under control
or eliminated. The greatest improvement in human health thus may be expected from
an understanding and modification of the factors that favour disease occurrence in the
human ecosystem.

The subject of focus in the given passage is :

(A) Ecology

(B) Epidemiology

(C) Relationship of human health and the environment

(D) Health planning

The passage sees the relationship between ecology and epidemiology as follows :
(A) Epidemiology is a part of human ecology

(B) Ecology is a part of epidemiology

(C) Both are the same

(D) An indirect relationship
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48. Diseases such as cholera were primarily controlled by :

(A) Immunisation (B) Oral rehydration

(C) Environmental improvement (D) Antibiotics

49. The most rational approach to disease prevention is :

(A) An immunisation programme

(B) Interventions based on understanding of the human eco-system

(C) Interventions based on social science knowledge alone

(D) Public health laws

50. According to the passage, environmental interventions for disease prevention are :

(A) Safe, but expensive

(B) Cheap but ineffective

(C) Safe, cheap and effective

(D) Effective, but unsafe and expensive

-00o0-
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48. T SKE SEIfEl W AR UM H A FRE @IE :
(A) e S (B) i gsic

(C) TEERid guR (D) gfsret gamd

49. T Feml & foIw Terd ferershof alieht @ :
(A) HfeREToT SenTehu A
(B) WM WIRFEfaehtar Hareen s T9et W SRG g&aa
(C) hId TS fo & FAWR ARG g&aad

(D) S e shld

50. TS H foU foem & STER, qafaRui gxaar g’ A fem
(A) e, TG 7
(B) &I, W= gt
(C) gUed, |&1 Td gHrEt

(D) I, 9T 3TYard Te HE

-00o0-
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